MLE UK OFRIZ B3 2 13
A K o Fik | RS AL
(G5 & | AROTAEE KEMREKERTE (20 2)
JB AT XXM N 35 BT | TR T K SR
A fL A B | oS A2TH (A)  13KF004y
WAL DR XUTA R | () & mas

% fLEH o AE PT

KRBT R R AERIT R HT 53R 8 5 6 2

%M(ﬁ%{ﬁ

4 19, 163,520 ] (JHEBLL OHIG HEBLZ & T0)

T EFE A H

SFITE6 AL H

JEAT IR S A AR

BRkEREH D SFotH9H30H £ T

= hl

EAR—

H

L%EEF%Mn‘££ﬁ£§LL%m < VIRV Tn=19{EFT
SSETE 10 TA=666m2, L1, HEFE/AETL=1656m ($200)

X
TiE
T
1B
+

£ B

421,014, 000 [ (HEFL OS5 TEEBR ZFR)

&R RS

RIEAY

417,744,000 1 (HEBLL O 1HERLZERL)

FAR ] RAf A% AR T AL L
= H DR T XA 4

— A ANALZ N S A
Xixfs 4 L2 E A

AR - FARNIKSY - EEFTOFTER « TR T

AL 5 D 5 T4 L AL AR

‘%%6%%@ ;%%XR mé'é%é, f:ﬁ I fis -
(W) KRR T )5 17, 744, 000

DR T2 (BR) IR S0 17, 744, 000 [

(W) e TR T )5 21, 014, 000 M

I\t () 17, 744, 000

(BR) & R 17, 744, 000 AL
() 1 R 17, 744, 000

(k) BB TR & T 17, 744, 000 1

Y sGarden 17, 744, 000

) &2 F v ks 17, 744, 000

(BR) A AR 17, 744,000

319 P 1




AL 55 DR 5 X34 B e O AFL 5%
N

% P = - o
% %ﬁ%mu % H %XX ciciﬂ le}l/ 7L g *L (jé %E\ {}%
(k) Wil T3¢ 17, 744, 000 [
(FR) &) 17, 744, 000
(B B+ 20, 841, 000 9
31T-9 P 2




